
MOTOR : GRUPO BOMBA DE ACEITE	
 

GRUPO BOMBA DE ACEITE 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 FILTRO DE ACEITE 116-4200-IA20

2 TUBO SALIDA DE ACEITE 116-4201-I006

3 TORNILLO M5 X 12 116-8190105

4 RESORTE TUBO SALIDA DE ACEITE 116-4202-I006

5 TAPA FILTRO DE ACEITE 116-4207-IA20

6 SEGURO 116-4208-I006

7 JUNTA FILTRO DE ACEITE 116-0209-IA20

8 TUERCA 116-1203-IA20

9 SEGURO TUERCA 116-2004-I006

10 CUERPO FILTRO DE ACEITE 116-4203-IA20

11 ENGRANAJE PRIMARIO 116-3101-I006

12 O-RING 9,4 X 2,4 116-0101-1009

13 TORNILLO M4 X 10 116-8190104

14 TAPA BOMBA DE ACEITE 116-4108-L044

15 ROTOR INTERNO 116-4111-L044

16 ROTOR EXTERNO 116-4112-L044

17 CUERPO BOMBA DE ACEITE 116-4110-L044

18 ENGRANAJE COMANDO BOMBA DE ACEITE 116-4102-L044

19 EJE BOMBA DE ACEITE 116-4107-L044

20 COVERTOR BOMBA DE ACEITE 116-4113-L044

                        1 / 2

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo bomba de aceite63.png


MOTOR : GRUPO BOMBA DE ACEITE	
 

Ref. Título Código

21 TORNILLO M5 X 20 116-57820005

22 TORNILLO M6 X 16 116-8190106

23 BOMBA DE ACEITE 116-4100-L044

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

